
44th Petrozavodsk Programming Camp, Winter 2023
Day 5: LOUD Enough Contest 2, Saturday, February 4, 2023

Problem L. LCSLCSLCS
Input file: standard input
Output file: standard output
Time limit: 10 seconds
Memory limit: 1024 mebibytes

Suppose we have two non-empty strings A and B (|A|, |B| ≤ 500) of capital English letters, and two
integers n and m such that 1 ≤ n,m ≤ 1015.

Let string An be a concatenation of n copies of string A. Let string Bm be a concatenation of m copies
of string B. Your task is to find the longest common subsequence of An and Bm.

Input
On the first line, there are two integers n and m (1 ≤ n,m ≤ 1015).

On the second line, there is a non-empty string A with length at most 500.

On the third line, there is a non-empty string B with length at most 500.

Both strings consist of capital English letters.

Output
Output one integer: the length of the longest common subsequence of An and Bm.

Examples
standard input standard output

10 10
AB
BA

19

100000000 100000000
A
AB

100000000
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